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6.8 AR HBoR Ak 8 B 45 -
6.1.78 AR HE SR I AR 4
s ZH oL B e 18 F V4% Ko 5 A H R
e HJ 1131-2020 [@EG5 QRS — . g ,
Lo =P8 cmoms @ty | 0B R 120 2me/m
B HJ 1132-2020 [EEEHEES &
AEAE IR W ] 3
2| BRI e sty | P08 129 2mefm
HJ 38-2017 [EEVG YR ES B8R FIT——
3| TR | FRAE AR e |CCOMC TG
- 033-2
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4 | DA REERA I TR WERL 158 iomg/
6.2. 7 AL HHAR NS R
P EF=Y VA DA031 RTO ¥+t & i HER O
T KA B[] 11 H19H
SRFEAIR B 1 SRK 2 AR 3
W mg/m? ND ND ND
&R
AL HEfoH 2 kg/h / / /
s W mg/m?3 6 9 5
EEhicE HEBOE 2R kg/h 0.215 0.333 0.168
B mg/m? 4.28 3.83 2.71
TSy
lekrianis HEfosE = kg/h 0.153 0.142 9.12E-2
N W mg/m? 5.0 5.4 5.7
i HEfsE kg/h 0.179 0.200 0.192
HSE Nd m*h 35805 36961 33662
TEE % 20.3 20.4 20.2
L m/s 13.1 13.5 12.3
L T 114.8 114.3 115.3
HEAS 5 B ARAE O T T B A% (m) 15/1.2
Uik >75%
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6.3. 78 H L HEBAY I 45 5
KA EAL DA029 C X 4k it e
o KA 8] 11 H19H
KAERIR PR 1 ) AR 3
W mg/m? 3.92 3.20 4.18
Y . g
HEBoE# R kg/h 5.83E-2 4.64E-2 5.80E-2
HS&E Nd m*h 14878 14485 13864
Vi m/s 8.1 7.9 7.6
IR C 18.6 19.5 18.9
HEAS 14 R B ARAE O T T 42 (m) 15/0.85
17 >75%
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